A.P. Calculus AB Quiz 4-1 Review No Calculators

Find the most general antiderivative of A(x).
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6. Find the most general expression of /(x) if #"(x) = 9* - 5x + 2.

7. Find the most general expression of f (x) if /"(x) = 4x> - 5x* +3x-6.

8. Find the specific expression of /' (x) if f(x)= f g(x)dx, g =3x* —4x  and f(-1)=2

9. Find the specific expression of f(x) if f"(x)=36x>-6, f'(-1)=3,and f(1)=9.
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6. Find the most general expression of /(x) if f"(x) = 9x* — 5x + 2.
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7. Find the most general expression of /(x) if /"(x) = 4x> - 5x* +3x-6.
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9. Find the specific expression of /(x) if f"(x)=36x*-6, f'(-1)=3, and (1) =9.
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